Gorrections Savoir Pe.3

Corrige Fxercice 4
1)

1 x2
F3(x) = 563"‘2 G3(x) = x—2e™*

H3(t) = In(4t —1) ‘ d;y(x) =x —47_

N R

X
ez = x — 2x% — 2e2

R =

I35(x) =3In(x+ 2) ‘ J3(t) = —gln(l —3t) ‘ K;(x) = %e‘“‘ = %e‘“‘ ‘ 0;3(x)=—-6In(1—x)

1 1 1
Ly(x) = 3 x 1713 = 6e2**3
2

My(x) = —31In(2 + 3)

N3(0) = 262 —gln(za ~-2) ‘ W, (x) = e* + e *

2x+4—4
x+2

py(x) = =2-—= P(x)=2x—4In(x+2)

2) f1(x) = %(Zx)e"2+1 = casu'e® avecu =x%2+1letu' =2x = F,(x) = %exz”l

1
g1(x) = %(BxZ)ex3 = casu'e® avecu = x3etu’ =3x? = G;(x) = Eex3

h(8) =2(20)e*~1 = casu'e® avecu =602+ letu =20 = H,(0) = 2e%° 1

2 !
ij(x) = Sa N casu:avecu =x3+xetu' =3x2+1=> I,(x) =In(x3+x)

x3+x
Jji(t) =2 —%x t22f1 = casu:avecu =t?—1letu' =2t > J;(t) =2t —%ln(t2 -1)
ki(x) = 2:212 = casu: avecu = 2x?+2etu’ = 4x = K;(x) = In(2x?% + 2)
LL(x) =2 X 1?;; = casu;avecu =1+2e*etu’ =2e* = L;(x) =2In(1+ 2€%)

1 1 5,2
m;(x) = Z(lbc)ezz"2 —1 = casu'e® avecu =2x%etu’ =4x > M;(x) = Zez" —-x

!

n(6)=1-— :;nsz = casu:avecu =14+e%etu' =—9 = N(O)=6- ln(l + e‘g)
4 1 ﬁ_z x2 2x 1 2 ﬁ_z
@1(x) =§><E(2x)e4 = casu'e" avecu =T_2 etu’ ===-x @, (x) =3et

!

Y,(t) = —% X (1__23 = cas%avecu =1—-t?etu’' =-2t > WY, (t) = —%ln(l —t?)

!

X
Sl p =>casu7avecu=x+e‘xetu’ =l-e*= Q(x)=In(x+e™)

x+e™

wq(x) =

3) fz(x)=%><2x(x2—3) = u'u avecu=x%—-3etu' =2x = Fz(x)zix%(xz—B)z=i(x2—3)2

2
g =t—(4—-1)° = uut avecn=3, u=4—tetu' =—-1 = G,(t) =%+i(4—t)4
h,(x) = —% X (—2e?*)(1—e?*)? = u'u avecn=2, u=1—e**etu’ = —2e%*
> Hy(x) = —sx2(1—e?)? = —2(1 - e¥)?

i,(x) =§(lnx— 3) = u'u avecu =Inx —3etu =§ = L(x) =%(lnx—3)2

Jo(x) =2V2x—1+3 = u'u™ avecn==, u=2x—1letu =2

N |-



!
Hf)=—— = L avecn=2, u=t+letu' =1 Ft)=——

(t+1)2 un t+1
(x) = = x =2 N avec u=1+x2etu' =2x > G(x) ==x2V1 +x2 = V1 + 2
g3 27 V142 N 3 2
—_ X u_, — — 42 r_ __ -1 f
hs(x) = (x2+1)4+ X = —avecn = 4, u=x“+1letu' =2x = Hzx) = SR
e* ! -1 1

is(x) = Zavecn=2 u=e*—1letu =e* = I;(x) =

(e*-1)2 = un

e*—-1 1-e*

5) 2(0) =c(30+1) = F(6) =3s(30+1)

ga(x) =25(§)_1 => G, = 2X—%c(§)—x= —4c(§)—x



